

دوره اول

$$\frac{r_{xy}}{r_{\sqrt{x}}} = \frac{r_{yb}}{r_{\sqrt{a}}}$$

$$\frac{r_b}{r} = 1 \quad b = \frac{r}{r} \quad a = \frac{1}{r} \quad a + b = r$$

$$f_-(a) = f_+(a) \quad , \quad f_+(a) = f_-(a)$$

$$f(u) = \frac{1}{\sqrt{u}}$$

$$g(u) = \frac{1}{\sqrt{u}}$$

$$f'(1) - r g'(r) = \frac{-\frac{1}{2} \sqrt{r}}{\sqrt{r}} =$$

$$\frac{-\frac{1}{2} \sqrt{r}}{\sqrt{r}} \left(\frac{1}{\sqrt{r}} \right) + \frac{r}{\sqrt{r}} \left(-\frac{1}{2} \sqrt{r} \right) =$$

$$-\frac{1}{2} \sqrt{r} + \frac{1}{2} \sqrt{r} = 0$$

$$\frac{1}{a} = b + c \Rightarrow c = 0$$

$$a = 0$$

$$-a = b$$

$$f(a^+) = f(a^-)$$

$$f_+(a) \neq f_-(a)$$

در این حالت تابع در آن نقطه
محدود نیست و در آن نقطه
محدود است

$$m > 1 \Rightarrow f(a) = f(a^+) = f(a^-)$$

$$(f \log u)' = -g = -\frac{1}{\sqrt{u}} \Rightarrow \frac{1}{\sqrt{u}} =$$

$$f(u) = \frac{1}{\sqrt{u}} \Rightarrow (f(u))' = -\frac{1}{2} \frac{1}{u^{3/2}}$$

$$f(x) = \frac{1}{x} - a - \omega$$

$$f'(x) = -\frac{1}{x^2}$$

$$f'(x) - f(x) = -\frac{1}{x^2} - \left(\frac{1}{x} - a - \omega\right) = -\frac{1}{x^2} - \frac{1}{x} + a + \omega = 0 \quad a = -\frac{1}{\omega}$$

$$f(x) = \frac{1}{x} - \frac{1}{\omega} - \omega = -\frac{1}{\omega}$$

$$f'(x) = -\frac{1}{x^2} = -\frac{1}{\omega^2}$$

$$\frac{f'(x)}{f(x)} = \frac{-\frac{1}{\omega^2}}{-\frac{1}{\omega}} = \frac{1}{\omega}$$

$$g'(u) = \frac{1}{\sqrt{u^2-1}} = \frac{1}{\sqrt{1-1}} = \sqrt{2}$$

$$g(u) = \sqrt{2} \Rightarrow f(u) = (u)^2 + 1 \Rightarrow 1u$$

$$g(u) \cdot f'(u) = 1 \cdot \sqrt{2} = \sqrt{2} \quad \frac{-1 \cdot \sqrt{2}}{1 \cdot \sqrt{2}} = -1$$

$$g(u) = f(-1) + f(1)$$

$$g'(u) = f'(-1) + f'(1)$$

$$\frac{1}{1} + \frac{1}{1} = 2$$

$$h_p \Rightarrow \frac{1}{\omega} f(\omega-h) f'(\omega-h) + \frac{1}{\omega} f(\omega+h) f'(\omega+h)$$

$$\omega - \frac{1}{\omega} h$$

$$f(\omega) = \frac{1}{\omega} = 1 \quad f'(u) = \frac{1}{\sqrt{u^2-1}} + \frac{1}{\sqrt{u^2-1}} (u-1)$$

$$f'(1) = 1 + \frac{1}{1} = 2$$

$$f'(1) = \frac{1}{1} = 1$$

$$\frac{-\frac{1}{\omega}}{1} + \frac{1}{1} = \frac{1}{\omega}$$

$$\frac{-\frac{1}{\omega}}{1} = -\frac{1}{\omega}$$

$$u y = \frac{1}{u} + 1 \quad y = m = \frac{1}{x} \Rightarrow \frac{1}{m} = x$$

$$1u - 1 = -1 \Rightarrow u = 1 \quad \frac{1}{1} = 1$$

$$f(n) = \frac{x-2n}{\sqrt[3]{n^2}} \rightarrow f'(1) = \frac{-2(\frac{2}{\sqrt[3]{1}}) - \frac{2}{\sqrt[3]{1}}(1)^{-\frac{1}{3}}(\frac{2}{\sqrt[3]{1}})}{\sqrt[3]{1}} = -\frac{1}{\sqrt[3]{1}}$$

$$g(n) = \frac{|n-2| + \sqrt{2n}}{\sqrt[3]{n^2}} \rightarrow g'(1) = \frac{(-1 + \frac{2}{\sqrt{1}})(1) - \frac{2}{\sqrt[3]{1}}(1+\sqrt{2})}{\sqrt[3]{1^2}}$$

$$g'(1) = -1 + \frac{2\sqrt{2}}{4} - \frac{2}{\sqrt[3]{1}} - \frac{2\sqrt{2}}{\sqrt[3]{1}} = -\frac{1}{\sqrt[3]{1}} - \frac{\sqrt{2}}{\sqrt[3]{1}}$$

$$f'(1) + g'(1) = -\frac{1}{\sqrt[3]{1}} + \frac{1}{\sqrt[3]{1}} + \frac{2\sqrt{2}}{4} = \frac{\sqrt{2}}{\sqrt[3]{1}}$$

$$\text{بیوستی} \rightarrow ah + c = \frac{1}{a}$$

$$\text{مستوی} \rightarrow -\frac{1}{a^2} = b$$

$$\left. \begin{array}{l} ah + c = \frac{1}{a} \\ -\frac{1}{a^2} = b \end{array} \right\} \rightarrow -\frac{1}{a^2}(a) + c = \frac{1}{a} \rightarrow \frac{2}{a} = c \rightarrow ac = 2$$

$$(f \circ g)' = g'(\frac{r}{\sqrt{\lambda}}) \times f'(g(\frac{r}{\sqrt{\lambda}}))$$

$$g(\frac{r}{\sqrt{\lambda}}) = \frac{1}{\sqrt[3]{\frac{9}{\lambda} - 1}} = r \rightarrow g'(\frac{r}{\sqrt{\lambda}}) \times f'(r)$$

$$g'(\frac{r}{\sqrt{\lambda}}) = -\frac{1}{\sqrt[3]{1}}(n^2-1)^{-\frac{4}{3}} \times rn = \frac{9}{\sqrt{\lambda}} \times -\frac{1}{\sqrt[3]{1}} \times (\frac{9}{\lambda} - 1)^{-\frac{4}{3}} = -\frac{2}{\sqrt{\lambda}} \times (r^2)^{-\frac{4}{3}}$$

$$= -\frac{r^2 \times \sqrt{r}}{\sqrt[3]{1}} = -\lambda\sqrt{\lambda}$$

$$f(n), n=2 \rightarrow f(n) = n[\varepsilon]_{+1}^2 = nn^2_{+1} \rightarrow f'(2) = 2r(2) = 4r$$

$$\frac{-\lambda\sqrt{r} \times 4r}{-1 \times \lambda\sqrt{r}} = r$$

$$g'(n) = f'(n+1) + r f'(rn+1)$$

$$\xrightarrow{n=-2} g'(-2) = f'(-1) + r f'(-1) \xrightarrow{f'(-1) = f'(-1)} g'(-2) = 2 f'(-1) = 2 \times \frac{r}{\sqrt[3]{1}} = \boxed{4}$$